
Factorisation d'Exposants (G)
Décomposez chaque exposants en facteurs.

1711 =

117 =

711 =

159 =

138 =

147 =

2411 =

2211 =

810 =

810 =
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Factorisation d'Exposants (G) Solutions
Décomposez chaque exposants en facteurs.

1711 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17

117 = 11 × 11 × 11 × 11 × 11 × 11 × 11

711 = 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7

159 = 15 × 15 × 15 × 15 × 15 × 15 × 15 × 15 × 15

138 = 13 × 13 × 13 × 13 × 13 × 13 × 13 × 13

147 = 14 × 14 × 14 × 14 × 14 × 14 × 14

2411 = 24 × 24 × 24 × 24 × 24 × 24 × 24 × 24 × 24 × 24 × 24

2211 = 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22

810 = 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8

810 = 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8
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34 271 896 307 633

19 487 171

1 977 326 743

38 443 359 375

815 730 721

105 413 504

1 521 681 143 169 020

584 318 301 411 328

1 073 741 824

1 073 741 824


